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Note : This paper contains seventy five (75) objcctive type questions of two (2) marks cach. All
questions are compulsory.

1. From the following two statcments of Asscrtion (A) and Reasoning (R), indicate the
correct code :

Assertion (A)

The guanuty ol a product demanded mmvarably changes mversely (o
changes 1n its price,

Reason (R) : The price effect is the net result of the positive substitution effect and
negative mcome ellect.

Codes :

(1) (A)and (R) both arc correct.

(2 (A)is mcorrect but (R)1s correct.

(3)  (A)iscorrect but (R) 15 meorrect.

(4)  (A)and (R) both arc incorrect.

2. Match the ttems of the List — I with that ol the List — II and suggest the correct code [rom
the following :

List -1 List — 11

I Cost Tunction i Kinked demand
1. Supply function b.  Isoquants
1. Production function ¢, Engincering method
tv.  Oligopoly d. Factor prices
Codes :

i il v
(1 < d a b
(2y b Y C d

(3) a b d E
4y d C b a

Lad

Which one of the lollowing combinations may not render the investment multipler
inapplicable ?

(1}  Net imports, undistributed profits and taxation.

(2)  Excess stocks ol consumption goods, debt cancellation and savings.

(3)  Price inllation, public investment programmes and strong hquidity preference.

(4y  Closed cconomy, unemployment in the cconomy, constant marginal propensity to

consuimece.

Paper-1T1 2 JA-017-17
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Match the items of the List — I with that of the List — IT and suggest the correct code from
the following :

List -1 List = 11

L, Compctitive Parity a, Variations in Advertising
ii.  Promotional Elasticity of Market b, Level advertising
. Optimal promotional mix c.  Advertising expenditure decision
tv.  Contra-cycle advertising d.  Marginal cquivalency of media outlay
Codes :

] 11 v
(1} b ¢ i d
(2) a C d

(3) b a d C
4y d a b ¢

Match the following and indicate the code of correct matching :

List — I List - 11
a.  Classical conditioning 1 Response-Stimulus learning
b.  Operant conditioning 1. Sumulus-Response learning
& Cognitive theory i, Stimulus-Stimulus learning
d. Social learning iv.  Modelling process
Codes :
a b C d

(i i iy i
(2) Wi i v
3y i i i v
@ ivoodi i i

Boss offers un employee a promotion which has huge increase in salary along with a new
title. It also requires cmployee to work ten hours more per week along with shifting to a
remote place. It is an example of which onc of the following 7

(1}  Approach conflict

(2)  Approach — Approach conflict

(3)  Approach — Avordance conflict

4y  Avoidance — Avoidance contlict

Which one ol the following is not an example of semantic barrier ?
(1) Poorly chosen words and phrases

(2)  Faulty translation

(3)  Usc of symbols that have various mcanings

(4)  Guarding against certain type of imformation

Paper-1T1 4 JA-017-17
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Assertion (A) : Equity theory of work motivation 1s based on social cxchange process,
i which individuals make contributions (inputs) and expect certan
rewards (outcomes).

Reason (R) : Individuals decide whether or not a particular cxchange is satisfactory
by comparing thewr mputs and outcomes with those of others and try 10
rectify incquality,

Codes :

(1) (A} is correct but (R) 18 not correct.

(2) (A} is not correct but (R) 1s correct.

(3}  Both (A) and (R) are correct and (R} 15 night explanation ol (A).

(4y  Both (A) and (R) are correct but (R} is not the right explanation of (A),

Which onc of the following mcthods of performance appratsal involves ranking
employees [rom best to worst 1in a particular trait 7

(1} Graphic Rating Scale method (2y  Forced Distribution method

(3)  Paired Comparison method (4)  Alternation Ranking method

Which onc of the following is not a basic feature of “Scanlon Plan™ 7
(1) Philosophy ol competition (2)  ldentity

(3) Compcetence (4)  Involvement systcm

A union of clectricians working in different industries is called by which onc of the
tollowing 7

(1y Cralt Union (2)  Industral Union

(3) General Union (4) National Union

Which onc of the following 1s not correct about voluntary rctircment scheme in public
enterprises !

(1y It was designed to help enterprises rationalise their surplus manpower.

(2)  Salary for the purposc of VRS consists of basic pay only,

(3} Benelhits are in addition to money that has accrued to provident fund.

(4)  Benefit 1s tax-frec scverance payment,

In case Mutual Funds invest in the sccurities whose price variations suggest the general
pricc movement, 1t 1s called

(1) Hedge Fund (2)  Index Fund
(31 Growth Fund (4) Balanced Fund

Indicatc the correct code of the combinations of the following methods commonly used
for capital budgeting

. Payback Pernod

b.  Profitability Index

C. Utility theory

d. Internal rate of return

Codes :

(1) a.bandc (2) b,candd
(3) a,bandd 4y a,candd

Paper-I11 6 JA-017-17
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Match the items of List — I with those of List — IT and indicate the correct code from the
following :

List -1 List = 11
L. Sale of existing firm to the management  a. Reverse synerey
. Fmancing acquisition with substantial b, Management buyout
sccured borrowings
. Firms demerged worth more to other c¢.  Reverse capital budgeting
firms
iv.  Cash inflows on demerger at present at d. Leveraged buyout

the sacrifice in form of cash out-1low on
transter of division/assct

Codes :
1 11 111 iv

(I} a b C d

2y ¢ a b d

(3) b d a C

4y b a d C

NPV and IRR methods of investment cvaluation may give divergent accept-reject
decistons on account of which of the following ?

a, Varying initial investment

b.  Divergent cash flows from the investiment projects

c.  Disparity in the lives ol the investment projects
Indicate the correct code of their combinations

Codes :

(1y aand b only (2)  band ¢ only
(3)  aandconly (4)y a.bandc all

Match the items of List — I with the items of List — IT and sclect the code of correct
matching :

List -1 List —IT

a. Latent demand 1. More consumers would hke to buy the
product than can be satistied.

o2 Full demand 1. Consumers may be attracted to products that
have undesirable social consequences.

c.  Overfull demand . Consumers may share a strong need that
cannot be satisticd by an existing product.

d.  Unwholesome demand 1v.  Consumers are adequately buying all
products put into the market placc.

Codes :

a b C d

() dii i v i
(2) i iv i i
Gy iv Qi i i
@ i i Qi v

Paper-I11 8 JA-017-17
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Match the items ot List — I with the items of List — IT and sclect the code of correct

matching :
List -1 List = 11
(Medinm of Mass (Limitations)
Communication)
a, Outdoor L. Relative  high  cost;  increasing  consumer
resislance
b.  Yellow pages . Over production could lead to runaway costs
C. Brochurcs . High competition; long ad purchasc Icad time;
creative hmitations
d. Tclephone iv.  Limited audience selectivity; creative limitations
Codes :
a b C d
(1y 1w 1 ]

(2) i i i v
Q) diioi v i
) ivo i i i

“The manulacturer threatens to withdraw a resource or terminate a relatonship if
intermediarics fail to cooperate™, refers to which one of the following channcl power 7

(1} Recferent power (2) Cocrcive power

(3)  Legiimate power (4)  Reward power

Assertion (A)

A company’s positoning and differentiation strategy must change over
the product life cycle,
Reason (R)

A company’s product, market and competitors change over the product
life cyele.

Codes :

(1y  (A)1s correct, but (R) 15 meorrect.

(2) (A} is incorrect but (R) is correct,

(3)  Both (A) and (R) are correct, but (R} 1s not the right explanation of (A).

(4)y  Both (A) and (R) arc correct, and (R} is the right cxplanation of (A),

The following mformation 1s given :

Expected usage of 50,000 units 1n a period of 250 days

Cost of processing an order ¥ 20 per order

Carrying cost per unit I (.50 for the period lead time on an order : 5 days
Company wants to keep a reserve supply of two day’s usage.

How many units will be included n the reorder point ?

(1) 2000 (2y 1000

(3) 400 (4) 1400

Paper-1I1 10 JA-017-17
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Statement — I : A variable in the Lincar Programming problem representing the unuscd
quantity of an mput resource 1s called surplus variable.

Statement — IT ¢ Values of the variables n the objective function ol the dual ol a primary
problem denote shadow prices of the variables,

Codes :

(1) Both the Statements are correct.

(2)  Both the stalements are mcorrect.

(3)  Statement — I 1s correct while Statement — I 1s incorrect.

(4)y  Statement — I 1s incorrect while Statement — I 1s correct.

The Teast amount of time an activity 1s expected o consume. Which one of the lollowing
relates to the above expression as per PERT language ?

(1} Expected time (2)  Most likely time

(3)  Optimistic time (4)  Pessimistic time

Which one of the lollowing 1s not covered while constdering the types of costs imvolved
quality control 7/

(1) Preventve costs (2)  Manufacturing costs

(3)  Inspection costs (4)  Failure costs

Match the items of List — I with the items of List — II and indicate the code of correct
matching :

List =1 List = I1
a. The paramcters of the distribution are 1. Normal distribution
nand p
b.  The mean and the vanance of the u.  Exponential distribution
distribution are idcentical
C. The mean and the standard deviaton 11 Bmomial distribution

of the distribution determines central
location and spread respectively,
d.  The graph ol the probability density
tunction of the distribution slopes
downward to the right from its
maximum mean value

v, Poisson distribution

Codes :
a b c d
(1 m 1V 1 i

2y i i i v
3y v di i i
@ i i v i

When a researcher wants to select a representative sumple o assess different parameters
from a large sized finite hetecrogencous population, which one of the following sampling
techniques is the most appropriate 7

(1) Judgemental sumpling (2)  Simple random sampling

(3)  Stratufied random sampling (4)y  Quota sampling
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Statement — I : The mean of the sampling distribution of mean is cqual to the parameter
value of the population mean.

Statement — IT : Stratihied sampling technique 15 unrestricted  probability  (random)
sampling technique.

Codes :

(1} Both the Statements arc correct.

(2)  Both the Stalements are mcorrect.

(3} Statement — I 1s correct while Statement — I 1s incorrect.

(4 Statement — I 1s incorrect while Statement — II 1s correct.

You arc given the following information about advertising expenditurc and sales :
(T in lakh)
Advertisement {(X) Sales (Y)
: Arithmetic mcan 10 90
: Standard Deviation 3 [2
Corrclation cocefficicnt between advertising cxpenditure and sales = 0.80. What 1s the
likely sales for advertising budget of < 15 lakh ?
(1y 120 lakh (2y 106 lakh
(31 58 lukh (4) 48 lukh

Assertion (A) : McDonald’s India Pvi. Lid., the wholly-owned subsidiary ol the US

bascd tast-food giant McDonald's Corporation, along with Coca-Cola,

1s developing a fruit based beverage, (o be retailed exclusively al

McDonald’s outlets.

Reason (R} : Organizations rightly try to diversify 1n order to spread their risks across
several mmdustries.

Codes :

(1) (A)and (R) both are correct and (R) 15 the right explanation of (A).
(2)  (A) and (R) both arc correct but (R) 1s not the right cxplanation of (A).
(3)  (A)is correct but (R) 15 mcorrect.

(4)  (R)i1s correct but (A) 1s mcorrect.

Statement — I : Competitors analysis begins with identification ol potential competitors.

Statement — I1 : An industry analysis gives information regarding probable sources of
competition.

Codes :

(1) Statement — I 1s correct but 11 1s incorrect.

(2)  Statement — [1 15 correct but 118 incorrect.

(3) Both the Statements arc correct.

(4) Both the Stalements are mcorrect.

Stratcgic management consists of which onc of the following combinations :

(a)  Environmental scanning (b) Strategy for outplay

(c)  Strategy formulation (d) Stratcgy implementation
(e)  Evaluation and control

Codes :

{1y (a), (b), (¢} and (d) only (2) (b}, (), () and (e) only
(3} (a), (¢}, (d) and (e) only (4y (b)), (¢) and (d) only

Paper-1T1 14 JA-017-17
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32. Michacl Porter’s Five Forces Modcl includes which one of the following combinations 7
(a)  Threat ol new polential entrants
(by  Threat ol substitute product / service
(c) Bargaining powcer of supplicrs
(d) Bargaining powcer of buyers
(c)  Rivalry among current competitors
(1} Rivalry among prospective competitors

Codes :
1y (a), (c) (dy, (e) and (1) (2y  (a), (b), (), (e} and (1)
(3)  (a), (b), (c), (o) and (1) (4) {(a), (b), (c), {d) and (c)

33.  Which onc of the tollowing 1s not a common motivation of an entreprencur ?
(1) Desire to maintaimn the status quo
(2)  Search for more rewarding work
(3)  Search for personal and professional growth
(4y  Desire for independence

34. The SFURTI programme of the government is to boost production in which onc of the
tollowing industrics ?

(1} Auto-components industry (2)  Industries using rencwable cnergy
(3)  Khadi and village industry (4)  Construction industry
35, Match the tems of List — I with the ttems ol List — II and 1denufy the correct code of
combination :
List -1 List - 11
a.  Entrepreneurship and Dynamic Capitalism 1. A.D. Chandler Jr,
b, The Alfluent Society . J.K. Galbraith
B Theory of Economic Development i1, Joseph Schumpeter
d.  Thec Dynamics of Industrial Capitalism iv. B.A. Kirchhoff
Codes :
i b C d

I T
2y i i Qi v
Gy iv Qi i i
@ iv i i i

36. Statement -1 : Entrepreneurs recognize opportunities where others see chaos or

confusion.

Statement — I1 : Entreprencurs bring aggressive capital for the existing business 1n
traditional market place.

Codes :

(1} Statement — I is correct but 1T 1s not correct.

(2)  Statement — I 15 correct but 115 not correct.

(3)  Both the Statements are correct.

(4) Both the Stalements are mcorrect.

Paper-TIT 16 JA-017-17
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Social responsibility of business while appropriating natural rcsources by a corporate
entity has been recommended in which one of the following ?

(1y  Montreal Protocol of 1987

(2)  Nillennium Development Goals 2008

(3)  Sustainable Development Goals 2015 1n Global Sustainability Report

(4)  UNDP Human Development Report

Disclosure of corporate governance practice and its compliance has been stipulated m
which onc of the following 7

(1}  Dircctors’ Responsibility Statement under Scction 134 of the Companics Act 201 3.
(2y  Auditor’s Report

(3)  C.A.G. Report

(4)  Report of the SEBT and MCA 21

Kumar Mangalam Birla Committce Report, Ramesh Chandra Committee Report, Cadbury
Committee Report primarily focus on which one ol the following ?

(1} ethical issues in business practice and marketing practice

(2)  health programme ol the employees in an organisation

(3)  1ssues relating o corporate governance practice

(4)  gender issues in management and equality for all

“The continuing commitment by business to behave ethically and contribute (o economic
development while improving the quality of life of the workforce and their families as
well as of the Tocal community and society at large.

This may be attributed rightly to which one of the following ?

(1) ethical responsibility of business

(2)  corporate social responsibility

(3)  commitment towards employee wellare

(4)  comphance with the provisions ol the Plantation Workers Act.

Arrange the steps ol diagnostic model of human resource management in the correct
sequence from the first to the last. Sclect the code of correct sequence :

a. Evaluate

b. Prescribe

C. Diagnosc

d.  Implement

Codes :

(1) ¢, b,ad (2) c¢.b,d, a
(3) a.c,d, b (4) a.c,b,d

Which onc of the following is a training technique in which trainees act out parts in a
realistic management situation ?

(1} Action learning (2)  Role playing
(3} Behaviour modelling (4y  Case study

Paper-1I1 18 JA-017-17
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Match the following and indicate the code of correct matching
List — 1 List — 11

. INTUC L. Bhartiya Janta Party

b. AITUC . Communist Party of India

c. BMS m.  Indian National Congress
d. CITU tv.  Communist Party of India (Marxist)
Codes :
a b C d
(1y 1m 11 1 Y

(2) qi i di v
) i iy i i
) i iy i i

The agreement arrived at during the course of conciliation proceeding m industrial
disputes 1s known as

(1) Secttlement (2)  Award

(3)  Reward (4)  Accord and sanction

Results of a pertod that may occur at the mitial career entry when the new employee’s
high job cxpectations confront the reality of a boring, unchallenging job,

This may rightly be attributed to which one of the following 7

(1} Reality Shock (2)  Mentoring Shock

(3)  Mental upcharee (4)  Carcer upsct

The two dominant aspects of industrial relations scene in the modern industrial society arc
covered in which one of the following 7
(1} Conflict and conciliation (2)  Cooperation and conciliation

(3)  Conllict and cooperation (4)  Cooperation and codetermination

The decision of the adjudication authority and arbitrator in disputes 1s termed as
(1)  Settlement (2)  Award

(3)  Reward (4)  Accord and approval

In case of a domestic cnquiry, which one of the following is not correct about cnquiry

officer ?

(1} He has 1o lollow the principles ol natural justice.

(2)  He can recommend punishment alongwith the report of findings.

(3)  He s generally an officer of the establishment but in some cases enquiry 15 also held
by somc outside agency,

(4) He can take hnal decision about punishment and issue an order inllicting
punishment,

Paper-1I1 20 JA-017-17
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49,  Match the items of List — I with the items of List — IT and sclect the code of correct

matching :
List -1 List = IT
A Core benefit I Bed, bathroom, towel, desk and closet
b.  Basic product 1. Clean bed sheet
C. Expected product 111, Rest and sleep
Codes :
a b C

My i i i
2y iioii i
Gy dii i i
) Wi i

50.  Select the correct sequence ol steps 1n setting a pricing policy :
(a)  Determiming Demand
(b}  Analyzing competitors’ Costs, Prices and Offers
(¢)  Selecting the Final Price
(d)  Sclecting the Pricing Objcctive
(e)  Estimating costs
(fy  Sclecting a pricing method
Codes :
(1} (d), (a), (c), (b), (f}and (¢)
(2)  (a), (c), (b), (d), (f)and (c)
(3} (a), (b), (e). (d), (I} and (¢)
(4y  (a), (b), (c), (d), (c) and (1)

51.  Which onc of the following 1s a digital communications technique that involves improving
visibility and monitoring sentiment within soctal networks and blogs 7
(1Y Emal marketing (2)  Display advertising
(3) E-PR (4)  Scarch cngine optimization

52.  Which one of the following 1s the report of the company’s strengths and weaknesses
relative to various competitors ?
(1) Compcetitor valuc analysis
(2)  Customer value analysis
(31 Customer profitability analysis
(4y  Customer perceived valuc

53. A company prices a 2 litre bottle of its mincral water at T 30 but 60 ml of the same watcer
in a moisturizer spray for ¥ 75. This is an cxample of which onc of the following pricing
practices ?
(1}  Product-Form pricing (2)  Customer-scgment pricing
(3)  Image pricing (4)  Location pricing

Paper-1T1 22 JA-017-17
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Assertion (A) : Companics must manage service quality by understanding the cffects of
euch service encounter.

Reason (R)

Customer's expectations play a critical role n their service experiences
and cvaluations.

Select the correct codes :

Codes :

(1) Both (A) and (R) are correct, but (R} 1s not the right explanation ol {(A).

(2}  Both (A) and (R) are correct and (R) 15 the right explanation ol (A).

(3) (A} is correct but (R) 1s incorrect.

(4)  (R)i1s correct but (A)1s mcorrect.

Statement — I ¢ Direct marketing 15 a non-interactive marketing system.

Statement — I1 : Direct marketing uscs one or morc media to cffect a measurable
response or trunsaction at any location.

Select the correet code

Codes :

(1) Both the Statements are correct.

(23 Both the Statements arc incorrect.

(3)  Only Statement — 1 15 correct.

(4y  Only Statement — 1 1s correct,

Which one ol the following refers to “two or more unrelated companies put together
ICSOUrces or programmes to cxploit an emerging market opportunity™ 7
(1) Hohstic marketing (2)  Hornzontal marketing system

(3)  Hub and spoke system (4)  Co-branding

Credit sales of a lirm 1 a certain year amounted to T 12.00.000 and the sundry debtors
outstanding at the beginnming and the end of the year amounted to T 1,20,000 and T 80,000
respectively. Indicate the correct code tor the debtors turnover ratio and the average
collection period from the following :

(1y 10 and 1.2 months (2) 12 and I month

(3) 15 and 0.8 month (4y 6 and 2 months

Inventory control system concerns with which combimaton ol the following :

a, ABC Inventory system

b. JIT system

C. Rec-ordering system

d.  Outsourcing system

Codes :

(1) a.bandc (2) b,candd
(3) a,bandd 4y a,candd

Paper-1T1 24 JA-017-17



www.prepp.in frepp

L
e

Your Personal Exams Guide

ATHT (A) : FUAN H TEGF VA F THT I ATA WG] B GHIRT FAT U F U

HIT (R) : V&S W1 TR I96 V@l el T oA H U% Heweyol JiaE 37T
HA G |

TET e T F

ohd :

(1) (A) 3T (R) 541 WET &, W (R), (A) Ff el AT 71 § |

(2)  (A) 3 (R) T FE1 & 3T (R), (A) I &I =RATE |

(3) (A)WEE (R) T &

(4) (RYTRIE (A) T E |

el — [ : Teged Temu Ueh T-ARE e [auTT ToTel § |

e — 11 : Tede] faorT Tl ©IF O ST ST WS 1 Uiatsar sl i s %
AT U a1 IO 21T WAl o ST AT €

el % 1 9T F

T

(1) AT 9T T E |

(2) TAIFATATE |

(3) FaA FA -1 TR 7 |

(4) FadT w1 a1 7 |

FeTeATEs W O ToREeR 39T 39 i 9 7 59w 7 91 21Tk Spatad Shuiar U SYRE ST
3TEER T SR I & 01T 279 TETEAT 3Tl HRHAT 61 Ush A1 Wadr & 172
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The credit policy of a firm is not decided for which combination of the following 7
a. Maximisation of sales

b. Mintmisation of bad debt losses
G Maximisation of shareholder’s wealth
d.  Minimisation of adverse ctfect on the volume of sales
Codes :
(1) a.bandc (2) b,candd
(3) a,candd (4y  a,bandd
Match the items of List — I with thosc in List — [T and indicate the correct code tor the following :
List -1 List = 11
1. Concentration Banking a. Willlam J. Baumol
1. Optimum cash balance under certainty b.  Cash collection technigque
1. Playing the float B Miller M.IH. and Orr D
tv.  Optimum cash balance under uncertainty  d. Cash dishursement technique
Codes :
] 11 v

(ly a ¢ b d
(2y b Y d C
(3r ¢ d a b

4y d b C a

Indicate the correct code for the hquidity ratios from the lollowing ;

a. Current Ratio b.  Acid Test/Quick Ratio

o Total Asscts Turnover Ratio d.  Defensive-Interval Ratio

Codes :

(1y a,bandc (2y  h,candd

(3) a,bandd 4y a,candd

Non-payment by solvent debtor tull due date involves which one type of cost from the following 7
(1) Delault cost (2)  Delinquency cosl

(3) Caputal cost (4)  Extra collection cost

Banks normally provide working caputal finance m forms of which combination ol the
tollowing 7

a, Term loans b.  Discounting of bills
€ Overdrafts d.  Cash credits

Codes :

(1y a,bandc (2y  h,candd

(3) a,bandd 4y a,candd

[n case a product’s selling price (per unit) is T 20, the variable cost (per unit) is T 14, fixed
factory overheads, (per year) 1s ¥ 5,40,000 and hxed selling overheads 15 ¥ 2,52,000, the
break-cven in terms of sales volume and the number of units to be sold to carn a profit of
< 60,000 will be which onc of the following ?

Break-even Volume of Sales and Units to be sold lor the desired profits

(1y 3 24.60.,000 and 1.36.000 units
(2) < 25.40,000 and 1.40.000 units
3y < 206.40.,000 and | 42.000 units
4y 3 2K5.60.000 and 1.48.000 units
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A,  Tasg Atusaaeni

b, &Iy T B AT

o ST o ST S SRR

d.  fosea =i mmr o uidset T 1 =aaueE]

1

ohd :
(1} o, b3 (2) b, c AT
(3) a,c3Md (4) a bIXd
gl — | &1 T&1 =61 T0etr o — [ &7 751 9 0 2R FEieied O ¥ Tl § 61 7947 5
=i - 1 it — 11
T -l ) a.  faferam <1 S
i, TAfeEaer o fef T e EeTan T vy b, T VR AR
i, IET (FoTe) § Tordl c. TOeI UHUE, g4 Y =
v, TR o T § STy e 9 d. e TEE deEn
E A
] 11 111 1V
(1y a ¢ b d
(2y b i d :
(%) ¢ d il b
4y d b C a
FTeATATEd 7 ¥ A3erdl 21919 a1 Hel 2 il Foold Fl
a.  IIE S b. TR TRIETOTTA ST
c. e TUTE SR SR d. TR STy ST
wDd
(1) a, b (2) b, c &R
(3) a, bamd (4) a, ¢ dATd

I Bl & °

(1) EIHee (T 7 A1) o0 (2) FOAHAE oA

(3) I @ (4)  3TTaREd UEv TN

e T FETAEd O 9 R TEe o WY H wEeiet S A gaar 0 8 0
a. AT T b. TaFmE o = =

c. ARy d. 7% 3UR

ohd :

(1) a, b3 (2) b, c AT

(3) a,b AT d (4)  a,c3ATd

3f TeFull SeTme 1 FsRa g (o geh) 3 20 € Ol o (of g 314 7 feat s
Sofesaa (v &) T 5,40,000 @1 T fage 3t 2 2,52,000 % 13 60,000 1 @ 9 % A
TeTshd T T o1 ST oAl 2ah1ed] o 9e i 9u-fa=s feafd fefeiiad 9 9 &9 97 g 2

fersrar =t T feresE wEn T afferd wIreT & forw s v Aol TEwEal
(1) 3 24,60,000 BRI 1,36,000 saFmear
(2) 3 2540.,000 GEI 1. 40,000 geTEET
(3) T 26.40.000 BRI 1,42,000 =aHrEar
(4y 3 28,60,000 BRI 1,48,000 germear
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Anti dumping duty 1s leviced on which one of the following :

(1) The goods exported Irom home country (o encourage more export 10 a sovereign.

{2y The goods imported into the home country for the purpose ol re-export to another
SOVCICIgn,

5 The dumped 1mports which 15 causing damage to the domestc mdustry mn the

3)  The dumped mmports whicl g damage to the domesl lustry th
importing country,

(4)  The dumped imports which are meant lor re-entry mto a sovereign lor further trade.

Assertion (A) : Export Processing Zones (EPZs) were set up as an cnclave separated
[rom the Domestie Tanll Area (DTA) and converted mto SEZs.

Reason (R) : The Export Oriented Units (EOUs) scheme 1s complimentary to the
[EP7 and 15 mtroduced 1o enable exporters enjoy liberal package of
1ncentives.

Codes :

(1y  (A)is correct but (R) 15 mcorrect.

2y (A)isincorrect but (R) 15 correct.

(3)  Both (A) and (R) are correct but (R) 15 not the right explanation ol (A).
(4)  Both (A) and (R) are correct and (R} is the right cxplanation of (A).

Challenges belore mternational business such as base erosion and prohit shifung (BEPs),
tax avoidance and shifting between a holding company and a subsidiary located in two
different tux soverergns may be resolved by which one ol the lollowing 7

(1) Mandate of Viena convention

(2)  Montrcal protocol

(3)  Technology transfer transactions, cyber space

(4)  Kyoto protocol

An elhicient dispute settlement mechanism under WTO was brought in by which one of
the following :

(1) The Uruguay Round Agreement

(2y  [Doha Round

(3)  UNDP Human Devclopment Report 2000

(4} The Uruguay and Geneva Round of Negotiation

The undernoted items may be categorized into which one of the following 7
Export quota, exchange control, profit remittance restrictions, subsidies, government

procurcment
(1y  Tanlls (2)  Unrestrcted tanils
(3)  Non-tanff barriers (4)y  Hybnd of tanft and no-tanll barmers

The undernoted items arc categorized mto which onc of the following nternational
product decistons for global business ?

Straight  cxtension, product adaptation, communication e¢xtcnsion, comimunication
adaptation, product extension, dual adaptaton and mnovation

(1} Product diversification

(2} Product market segmentation

(3} Product communication strategies

(4)y  Market scementation and product promotion
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Match the items given in List — I with the items of List — II and indicate the code of
correct matching :

List - 1 List — I1

a. CIP L. Carriage
bh. CPT 1. Insurance and carriage
c. DAF . Freight, cost, insurance
d. CIF 1v.  Fronter
Codes :

a b C d
(hy n ] v 111

2y i i i v
3y qii i v
@) ivoodi i

To comply with the requirement of TRIPS agreement and to protect products of Indian
origin, which onec of the tollowing was cnacted ?

(1Y  WTO Compliance Act 1999

(2}  Geographical Indication of Goods (Registration and Protection) Act 1999

(3} The Patents Act

(4)  The Copyright Act

Which onc of the following transactions can be carried on without any restriction or

regulation ol the RBI under the FEMA 7

(1) Transler or 1ssue of any loreign security by a person resident in India.

(2)  Transler or 1ssue of any security by a person resident outside India.

(3y  Drawal ol loreign exchange for payments due on account of amortization ol loans or
for depreciation of direct investment,

(4)y  Export, import or holding of currency notes,

In nternational marketing, market sclection process is generally done by considering

which one ol the lollowing

(1) Farm related lactors, market related factors, central banking measures related lactors

(2)  Farm related lactors, market related factors.

(3)  Market related lactors, non-farm related factors, government related lactors.

(4)  Farm related lactors, capuial market related lactors, and central banking measures
related tactors,

The exit of Great Britain from the Europcan Union (EU) 1in June 2016 by a rcferendum has
been announced as mvalid by the London High Court on which one of the following reasons 7
(1} Reflerendum has got no legal sanction

(2)  Exit was not as per the Briush law.

(3)  Exit was not as per the EU law.

(4y  The Brexit cannot be legal under Article 50 without approval of the British Parliament.
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